CET GRADUATION 15/2021

Passage for Question 1, 2, 3, 4, 5 (ST-15SCETGRADUATION(1-5R)2021)
eng Passage

Study the given information carefully and answer the given questions.

Eight friends A, B, C, D, E, F, G and H; are having different weights (in kgs.) viz. 20, 30, 40, 50, 60, 65, 68 and 70; but not necessarily in the same order.

Either the weight of B or H is 50 kgs. Either the weight of C or H is 20 kgs. Either the weight of D or G is 30 kgs. Either the weight of B or H is 50 kgs. Neither
the weight of C nor A is 60 kgs. Neither the weight of C nor E is 68 kgs. Neither the weight of F nor H is 40 kgs. Neither the weight of B nor D is 70 kgs. Neither
the weight of D nor A is 68 kgs. Neither the weight of B nor E is 50 kgs. Neither the weight of B nor G is 68 kgs. Neither the weight of D nor E is 60 kgs. Either
the weight of E or H is 40 kgs.

hi Passage

fag T gt F ITT N F forw Fraferfrg Srastd w1 sara-gds o)

ASIET A, B, C, D, E, F, G 3T H; SRT-311T 91 20, 30, 40, 50, 60, 65, 68 3T 70; (FRIT &) % &, orfeh sy 7t fo 22t 9 § 21l

IT AT B AT H FT 399 50 Retima g1 I a1 C 7 H &7 a9 20 FFef R 81 a1 a1 D AT G %7 3w 30 FRerm g1 37 a1 B a1 H &7 3919 50 fharma g1 a7 ar
C 3T T ET AFT a9 60 FFATITH F1 7 A7 C 3T 7 E1 E #7919 68 Thel I 81 7 a7 F 3% 7 &7 H T a1+ 40 fhefam® &1 7 a7 B 3T T 27 D &7 == 70
RN 81 T A1 D 3T &7 AFT a9 68 TReumd g1 7 a7 B 3i¥ T 21 E FT a5 50 Fhefum® g1 7 a7 B 3T T &7 G &7 a9 68 HhefRIme g1 a7 D 37T T 21
E T a1 60 et R g1 J7 a1 E AT H T o 40 et R g1

Q-1 What is the weight of C (in kgs.)?
A, 65 B. 50
C. 20 D. 68

Q-1 C T Fo fohamT g (Fretrme #)2

A. 65 B. 50
C. 20 D. 68
Solution for Question 1 Ans Key: 3
G 70
H 50
Q-2 The weight of F is (inkgs.)?
eng
A. 68 B. 20
C. 30 D. 50
Q-2 Farasm_ (e d) g2
hi
A. 68 B. 20
C. 30 D. 50
Solution for Question 2 Ans Key: 1
eng Person/TOfeR | Weight/a=ier l
- A - 65 |
B &0 [
C 20 [
D 30




A 65
B 60
e 0
[ 20
E 40
F 68
G 70
H 50
Q-3 The weightof His  (inkgs.)?
eng
A, 68
C. 30

Q-3 H T a4 (FPretrrT ) & 2
hi

A. 68
C. 30
Solution for Question 3

20
50

20
50

g

'hl'

50
-

y: 4

eng
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Q-4 The weight of E is (in kgs.)?
eng

A, 68

C. 20

Q-4 E T a5 (FFRm #) 2 2

A 68
C. 20

40
65

40
65




i | 40
¥ | s
G _-[ T |
H | =0
hi Person/Tafes | Weight/@=e
A | 65
B | 60
c | 20
D | 0
E | 40
F | 68
G __[ T
H |  so
Q-5 The weight of Dand Eis _ (inkgs.)?
eng
A, 120 70
C. 90 50
Q-5 D 3{< E &7 a9 (et ) 22
A. 120 70
C. 90 50

Solution for Question 5

nf=dnh Weight/d=

70

nfzafem | W a=el
E 40

F 68

G 70

H 50

Ans Key: 2

hi Passage

Passage for Question 6, 7, 8, 9 (ST-15CETGRADUATION(6-10R)2021)
eng Passage

Study the following information carefully and answer the questions given below.
A building has eight floor numbers from 1 to 8. Eight persons L, K, J, H, G, F, D and S lives different floors, in which ground floor numbers is '1' and above the
floor is 2 and so on last top floor numbered is '8', but not necessarily in the same order.

L lives three floor above to H, is not the neighbour of F’s floor. D lives between J and L. G does not live top-most or bottom-most floor and is not the neighbour of
S. H is not the neighbour of J. S lives immediately above to K. F live below to G but not on ground floor.

At e ITasTd 1 ea\ga® Aegaa FL qATAT FTATAAT 6 IACR|

TFHFTART A A AT TAT 1 T8 TF I L, K, I, H, G, F, D 3T S AT T O U< Tgd ¢ ToraH Aot 7a< '1' § SHEF U 67 Aot 7a< '2' g 3fT 37




Fu< oft zeft g T Had S Gt 7 F9 8 €, St Sredy T2 56 26 #9 A 20 L, H & 1 a1 359 Tgar g, F /iorer T a2 A8t 21D, J ST LF
= | T2AT 5| G, T FUT AT G A= ATAT G197 T Ag] T2al ¢ T S FT TSIET Al gl H, J T T2 T21 81 S, K F 31% FU aTel ad 72 T2ar 21 F, G

o = TEAT &, Ao FaH = aTe o 9 A2t T2l gl

Q-6 Who lives on fourth floor?

eng
A. H B.
C. G D. F
Q-6 T T DI TEaT &7
hi
A. H B.
C. G D. F
Solution for Question 6 Ans Key: 4
eng 8 | s]| J
7 | k| D
8 | 3] L
5 D G
".A - L__ F
|3 | H
! 2 F s
[ 1 H K
|8 S J
I 7 K D
|8 J L
E p| &
o 1l ¢
E c| H
|2 f S
[ 1 H K
Q-7 Who lives two floor below to K?
A. D B
C. L D. F
Q-7 K 2T {fSrer 1= 1 72a1 22
A. D B. ]
C ol D. F
Solution for Question 7 Ans Key: 1
eng s [ s] J
T K [+
L) J L
] o] G
4 L F
3 <] H
2 F -]
;. H K
hi a8 | s] 4
T K [+
L) J L
] 2] a
4 L F
3 =] H
2 F 5
;. H K
Q-8 What is definitely true regarding J?
eng
A.  Jlives on top most floor. B. Jlives between D and K.
C.  Jlives immediately below to K. D.  Jlives three floor above to G.

Q-8 JF =T | AT sr g mr AT 82



A, ) FIH FUT T G 9T At 2 B. ] DY K ¥ = gar 2
C. J, K % 2 = a1er 9 ¥ TEar 2| D. ], G &= w@foe Suw wgar 2
Solution for Question 8 Ans Key: 4

eng

E L AR R R - E R R ]
I(M@|r|e|=x|n
x|w|T(n]|@|r|a|c

hi ] s J
7 [ k| o
8 |4 L
E | o| a
4 L F
a | el n
2 | [ s
1 | H| K
Q-9 Four of the following five are alike in a certain way and so form a group. Which one of the following does not belong to the group?
eng
A. H B. G
C. K D. F

Q-9 e o= § & 9 v [ a8% & v 99 8 o7 9o uE a9 a9 2| A9 § F w9 97 UF 39 a9E ¥ queatad qgl g2

A. H B. G
C. K D. F
Solution for Question 9 Ans Key: 4

D

|>2 o
"'. H

Passage for Question 10, 11, 12, 13, 14 (ST-15CETGRADUATION(11-15R)2021)
eng Passage

Study the following information carefully and answer the question given below:

Tenperson I, J, K, L, M, N, O, P, Q and R are sitting in two parallel rows. In each row, five-person are sitting. Both the rows of person are facing to each other.
The person sitting in the first row are facing south direction while the person sitting in the second row are facing north direction.

There are two-person are sitting between O and L. M is sitting second to the left of N. P is sitting second to the left of K. More than one person is sitting between |
and R. K and Q are sitting in the same row. The one who is facing R is sitting between O and P. The one who is facing M is an immediate neighbour of L. The one
who is sitting between M and N is not facing south direction. J is not sitting diagonally opposite to M.

hi Passage

ety STastd £ 1 sqmgd T steggawT A= fRuagwg s3I

FAREL I, K, L, M, N, O, P, Q 31T R I HTHIAY Uhdl § & &1 I Uik § T= ATk 9% g1 FA1 G4 & ARl H7 @ U TH F qTH gl Tgeft
ufch ® 9% st 1 g aferr fem v e g Safh gt afts § 9% s w1 g 39w R fir e )

O 3T L% = | I =AE 95 g1 M, N % aT0 ZaXT 93T g1 P, K F I AT 9371 g1 [ 3T R F = § UF 7 AT9F Ah 95 g1 K 3T Q UF &1 uf<h # 9% 2l
g AT ST R #T T 39 TET 8, O 3T P F 1= H I31 g 9 A<h ST M T AT 79 W27 8, LFT T4 TSIET g 98 ATk ST M 3T N F 1= § 37 & aferor
o &1 <Y 981 3@ T 81 J, M % favi faadia i a1 8

Q-10  Who are sitting at the ends of the row in the following alternatives?



eng

A. LandJ B. QandR
C. KandM D. OandK
Q-10 Fwforfed Gwedt § & 9fh % faw F7 T2 FE-F6 97 82
hi
A, L3fT] B. Q@R
C. KM D. 07K
Solution for Question 10 Ans Key: 4
eng K L P Q @]
1 J M R N
hi K L P Q o
1 J M R N
Q-11  Who is sitting in front of the one who is an immediate neighbour of N?
A. P B.  The one who is sitting between R and J
C. K D. The one who is sitting between O and P
Q-11 =g =<6 ST N FT T TEMET &, F FTHA HId 937 82
A p B. agARFIIRATIF AT H I2T 7
C. X D. ag=aAFINO AMTPHFATHISTE
Solution for Question 11 Ans Key: 4
K L P Q O
| J M R N
K L P Q o]
l J M R N
Q-12 If Q and L interchange their place then who is sitting second to the left of L?
eng
A Q B. O
C. K D. None
Q-12  =fT Q 3T L AT ST HT SMTH | T& oI & af L aT4 gaT i 95T &2
hi
A Q B. 0O
C. K D. sl
Solution for Question 12 Ans Key: 4
eng K L

¢ ¢
g

<=0 ze><a T
<=0 De><0
<= 0| Ze><=0

» <2 x
l¢|-



ror v v ot
| M R N

J

Q-13  Whatis the position of Q with respect to K?

eng
A.  Immediate left B. Immediate right
C. Second to the left D. None of these
Q-13 K F 999 § Q FT T &1 8?2
hi
A, gaam™ B. Taamg
C. FmuFgET D. =¥ F#Is Al
Solution for Question 13 Ans Key: 4
eng 6 h P Q ©0
A
I J M R N
hi K L P Q (o]
g & ¢ & ¢
I J M R N
Q-14 Four of the following five are similar in some way so form a group which one does not belong to that group?
A. O B. K
C. M D. 1

Q-14 FwfafEd af= § & A1 6T T6 R 8 G049 ¢ ST UF T4 a91d &, HIF 97 39 THE T AT 82

A. O B. K
C. M D. |
Solution for Question 14 Ans Key: 3
K L P a o
8 4 8 8 9
¢ & ¢ & ¢
K L P a O
=y =
g ¢ ¢ & ¢

Passage for Question 15, 16, 17 (ST-15CETGRADUATION(16-18R)2021)
eng Passage

Study the following information carefully and answer the question given below:

A person starts from a point in west direction walks 8 m. Now he takes a right turn and walks 5m and again takes a right turn and walks 3 m, now takes a left turn
and walks 6 m, now takes a right turn and walks 10 m. Now he takes a left turn and walks 5 m and then turn 1800 and walks 11 m, finally turn to right and walks 5
m

hi Passage

afafad STasTd F 1 8qMYa T AATTHT AR FRTATTF FTITC AR

U ATk G e | UF {65 & ¢ a1 & 98 8 Hiex Faar g {he 70 q=aT ¢ 3 5 Hiex Foar g o< o6 & 370 g2aT § 37 3 Wiex 7aar g, e
U JAT 2 AT 6 Hie Forar g, foT 210 q=ar 8 i< 10 Hie =erar 1 6 ag a3 q=ar 8 o 5 Y <ferar g i< o1 1800 THaT § 37 11 # Fe1ar 8,
ArE{T | Fg I8 q2qT 8 T 5 W Fdr gl

Q-15 In which direction is the starting point with respect to the ending point?
eng



A. North B. North-west

C. South D. South-east
Q-15  sifgw &g ¥ d&y # yifae g Fra fRem w22
hi
A, ITX B. g=e-ufam
C. aferor D. zferorge
Solution for Question 15 Ans Key: 3
eng AN
5
10 N
11
6
3
Lo S
: 5
5 ]
i
3 )
AN
5
10 .
11
6
3 5 > A
: 5
5 ;
1
3 O
Q-16 Last turn is how far and in which direction with respect to second turn?
A. 14 m, North B. 13 m, West
C. 14m, South D. 13 m, East

Q-16  siffrw v, gerft wive 3 st F Freeft o1 oite P Rearr & 22

A, 14 ¥eT, 3T B. 13 e, ufam
C. 14 ez, zfomm D. 13 4ffer,
Solution for Question 16 Ans Key: 4
eng ’\
5
10 N
11
6
3

L S
(%]




5 1
10 LY
11
6
3
s
5 :
i
¢ 3 0
Q-17 How much total distance covered by that person?
eng
A. 56m 65m
C. 67m 53m
Q-17 39 =4f<F g A fohadt g1 aF T 722
A. 56m 65m
C. 67m 53 m
Solution for Question 17 Ans Key: 4
AN
5
10 .
11
6
3
4 Q& 5
5 '
i
5 O
A
5
11
6
3
d X 5
5 !
i
3 0

Q-18 Following questions are based on six three digit numbers.

eng
926 542 691 879 345 679

If the first and the second digits in each number are interchanged then which number will be the third smallest number?



A. 926 B. 542

C. 691 D. 879
Q-18 fwfafag vy o: Breifig degreit wxararfa gl
hi
926 542 691 879 345 679
T Tl HEAT & Tl oY TAY 3 % T &l Sraeariod 6T Srar g a1 e § & Fi o 517 e q99 St 9edr g
A 926 B. 542
C. 691 D. 879
Solution for Question 18 Ans Key: 2
eng 926 542 691 879 345 679
296 452 961 789 435 769
hi 926 542 691 879 345 679

296 452 961 789 435 769

Q-19 Following questions are based on six three digit numbers.

eng
926 542 691 879 345 679

If in each number the first and the third digits are interchanged then which number will be the second largest number?

A. 926 B. 542

C. 691 D. 679
Q-19 fwfafaayss: g dearss vTararfa gl

926 542 691 879 345 679

T T AT F TE ST T 37 o TATH HI ATTH H T&AT AT & AT (779 I &7 AT Tt g aef 91 gRi?

A. 926 B. 542
C. 691 D. 679
Solution for Question 19 Ans Key: 4

926 542 691 879 345 679
629 245 196 978 543 976

926 542 691 879 345 679
629 245 196 978 543 976

Q-20 Following questions are based on six three digit numbers.
926 542 691 879 345 679

If 1 is subtracted from the middle digit of each number and then the numbers are arranged in descending order from left to right, what will be the sum of the
digits of the third newly formed number from left?

A. 17 B. 23
C. 21 D. 15
Q-20 fawfafaa waa: Braidfia dearst v argrfa g
hi
926 542 691 879 345 679
T T HEAT F e o0 W F 1 TTAT AT ¢ 7Y 6T 3T &7 =gl o F § 913 & 379 sxafeerd foha S 8, 91 amd & e qawrisa gear ®
ST T ART FAT GAIT &2
A 17 B. 23
C. 21 D. 15
Solution for Question 20 Ans Key: 4
eng 926 542 691 879 345 679

916 532 681 869 334 669
916 869 681 669 532 334



681=6+8+1 =15

hi 926 542 691 879 345 679
916 532 681 869 334 669
916 869 681 669 532 334
681=6+8+1 =15

Q-21 Following questions are based on six three digit numbers.

eng
926 542 691 879 345 679

If all the numbers are arranged in descending order from left to right, what will be the sum of the digits of the third from the right?

A 17 B. 23

C. 22 D. 15
Q-21 frufafEawwa: Freidia dearell vTararia g

926 542 691 879 345 679

Tt oY SRt T STl 79 § a7 | 213 et T Srar €, av ard & Sad 9T 6 st 7 AT 9T g 82

A 17 B. 23
C. 2 D. 15
Solution for Question 21 Ans Key: 3
926 542 691 879 345 679
926 879 691 679 542 345
6+7+9 =22
926 542 691 879 345 679
926 879 691 679 542 345
6+7+9 =22
Q-22 Find the odd word/letter/number from the given alternatives.
A. MAN B. PEN
C. INK D. for
Q-22 zE A H T BEedi § § Auw srea/ses/aeT 9Hu)
A. MAN B. PEN
C. INK D. for
Solution for Question 22 Ans Key: 4
Except D all word are in capital letter.
hi D % foamr st @sft orex a2 e A B
Q-23  Find the odd word/letter/number from the given alternatives.
eng
A, 2 B. 7
C. 27 D. 29
Q-23 = WA H ¥ T Gt # & e se/sre AT 90
hi
A 2 B. 7
C. 27 D. 29
Solution for Question 23 Ans Key: 3
eng Except C all are prime number.
hi C & THam a4t srarsg §e&aT 2

Q-24 In each of the following question a series is given, with one term missing. Choose the correct alternative from the given ones the will

eng complete the series.

8,4,4,6,12,30 2



A. 53 B. 64

C. 38 D. 90
Q-24 fafafEaras vad v agan fRarg, Frad vw va ga gl R 3 fFrwedt & @ ag ot Rrwes g Sy s/gsww w1 grraam

8,4,4,6,12,30 ?

A. 53 B. 64
C. 38 D. 90
Solution for Question 24 Ans Key: 4

eng 8 4 4 6 12 30 [90]
x0.5 x1 =15 x2 x25 x3

+05 +05 +05 +05 +05

a 8 4 4 6 12 30 [90]
x0.5 x1 x1.5 x2 x25 x3

+0.5 +05 +05 +05 +05

Q-25 In each of the following question a series is given, with one term missing. Choose the correct alternative from the given ones the will
complete the series.

9,11, 14,18, 23, ?

A. 28 B. 29

C. 30 D. 31
Q-25 fEfafRaT@s g d vF aqaa (¥a78, Brad gF v qa 8| 33 13 faaeai & § ag gt aweq AR ST Stqaw w7 g m

9,11, 14, 18,23, ?

A. 28 B. 29
C. 30 D. 31
Solution for Question 25 Ans Key: 2
9 11 14 18 23 29
DR o L o . o S
+2 +3 +4 +5 +6
9 11 14 1 20 29

+2 +3 +4 +5 +6

Passage for Question 26, 27, 28, 29, 30, 31, 32 (ST-15 CET GRADUATION E (1-8) 2021)
eng Passage

Read the following passage carefully and answer the questions given below it. Certain words have been given in bold to help you locate them while
answering some questions.

The low level of participation in the capital market by small investors, despite the official espousal of their cause, has worried policy makers and regulators for long.
While nearly half the population in developed countries has a direct or indirect interest in the capital market, hardly one per cent of the population in India invests in
the equity markets, by far the biggest segment of the capital market. Even more striking is the fact that less than three per cent of household savings find their way to
the capital market. One important reason is the apparent lack of faith in the integrity of the markets. This is unfortunate. The market regulator, Securities and
Exchange Board of India — set up in 1D2 in the wake of widespread stock markets shenanigans — has done a commendable job of building an impressive market
edifice which is the envy of many others. All the market intermediaries — merchant banks, underwriters, brokers, and so on — were brought under regulation and
the surveillance and monitoring of equity trading, which grew exponentially, were stepped up. The two other initiatives that have had a bearing on market integrity
were the capitalization of intermediaries and the induction of technology.

All these moves should have made Indian stock exchanges a safer and friendlier place to park individual savings. Yet in what should be seen as an unintended
consequence, some of those very steps have made stock market investing more complicated for the retail investors. For instance, the technology-enabled
compulsory dematerialization of stocks is without doubt a major reform that greatly facilitated the buying and selling of shares at exceptionally low cost. However,
for many retail investors the process of opening and operating a De-mat account is proving to be cumbersome. Again, the more recent requirement of complying
with the KYC (Know Your Customer) norms has proved daunting to many small investors. Thus, in certain respects the use of high technology, the enhancement of
capital requirements for brokers, and several other regulations have led to the alienation of the small investor and reinforced the inherent wholesale character of the
stock exchanges. Official exhortation to retail investors to access the markets through mutual funds has merit. However, many mutual funds have fallen short of




expectations. The intermediation charges are high and after-sales service is not up to the mark. Urgent steps are required to entice retail investors to debt
instruments such as corporate bonds.

hi Passage

Read the following passage carefully and answer the questions given below it. Certain words have been given in bold to help you locate them while answering some
questions.

The low level of participation in the capital market by small investors, despite the official espousal of their cause, has worried policy makers and regulators for long.
While nearly half the population in developed countries has a direct or indirect interest in the capital market, hardly one per cent of the population in India invests in
the equity markets, by far the biggest segment of the capital market. Even more striking is the fact that less than three per cent of household savings find their way to
the capital market. One important reason is the apparent lack of faith in the integrity of the markets. This is unfortunate. The market regulator, Securities and
Exchange Board of India— set up in 1D2 in the wake of widespread stock markets shenanigans — has done a commendable job of building an impressive market
edifice which is the envy of many others. All the market intermediaries — merchant banks, underwriters, brokers, and so on — were brought under regulation and
the surveillance and monitoring of equity trading, which grew exponentially, were stepped up. The two other initiatives that have had a bearing on market integrity
were the capitalization of intermediaries and the induction of technology.

All these moves should have made Indian stock exchanges a safer and friendlier place to park individual savings. Yet in what should be seen as an unintended
consequence, some of those very steps have made stock market investing more complicated for the retail investors. For instance, the technology-enabled
compulsory dematerialization of stocks is without doubt a major reform that greatly facilitated the buying and selling of shares at exceptionally low cost. However,
for many retail investors the process of opening and operating a De-mat account is proving to be cuambersome. Again, the more recent requirement of complying
with the KYC (Know Your Customer) norms has proved daunting to many small investors. Thus, in certain respects the use of high technology, the enhancement of
capital requirements for brokers, and several other regulations have led to the alienation of the small investor and reinforced the inherent wholesale character of the
stock exchanges. Official exhortation to retail investors to access the markets through mutual funds has merit. However, many mutual funds have fallen short of
expectations. The intermediation charges are high and after-sales service is not up to the mark. Urgent steps are required to entice retail investors to debt
instruments such as corporate bonds.

Q-26 On the basis of your reading, mention the major points that impacted the wholeness of the market.

A. The outburst of technology and the cost-  B.  Giving rise to technology and the provision of capital to the middle-men.
effectiveness of the intermediaries.

C.  The infusion of intermediaries and the D.  The capitalization and the coveting of intermediaries.
intrusion of technology.
Q-26 On the basis of your reading, mention the major points that impacted the wholeness of the market.

A. The outburst of technology and the cost-  B.  Giving rise to technology and the provision of capital to the middle-men.
effectiveness of the intermediaries.

C. The infusion of intermediaries and the D. The capitalization and the coveting of intermediaries.
intrusion of technology.
Solution for Question 26 Ans Key: 2

The answer is given in the last line of the first paragraph.

The answer is given in the last line of the first paragraph.

Q-27 Which of the following is known as the market regulator, according to the passage?
eng A. Security and Exchange Board of America

B. Equity market

C. Capital market

D. Securities and Exchange Board of India

A. OnlyA B. OnlyD

C. BothAandD D. BothBandC
Q-27 Which of the following is known as the market regulator, according to the passage?
hi A. Security and Exchange Board of America

B. Equity market
C. Capital market
D. Securities and Exchange Board of India

A. OnlyA B. OnlyD
C. BothAandD D. BothBandC
Solution for Question 27 Ans Key: 2

eng The answer is given in the mid of the first paragraph




The answer is given in the mid of the first paragraph

Q-28

eng

With reference to the passage, what potential measures taken in favor of consumers are going to be of aid to investors?

A. New and attractive offers to be given to B. The investment to be limited yielding better results.
attract consumers.

C. The technology to be enhanced as perthe D. The investment to be limited yielding not better results.
feedback.

With reference to the passage, what potential measures taken in favor of consumers are going to be of aid to investors?

A. New and attractive offers to be given to B.  The investment to be limited yielding better results.
attract consumers.

C. The technology to be enhanced as perthe D.  The investment to be limited yielding not better results.

feedback.
Solution for Question 28 Ans Key: 4
eng The answer has not been given in the passage.
hi The answer has not been given in the passage.

Q-29

Q-29

According to the passage, why is there a need for dire steps?

A.  To entice telecom investors to debt B.  To repel retail investors to debt instruments
instruments

C. To repulse retail investors to debt D. To captivate retail investors to debt instruments
instruments

According to the passage, why is there a need for dire steps?

A.  To entice telecom investors to debt B.  To repel retail investors to debt instruments
instruments
C. To repulse retail investors to debt D. To captivate retail investors to debt instruments
instruments
Solution for Question 29 Ans Key: 4

Q-30

The answer is given in the last line of the passage.

The answer is given in the last line of the passage.

Which of the following is TRUE, according to the passage?

(A) The two other responsibilities that have no impact on market integrity were the induction of technology and the capitalization of intermediaries.
(B) Almost fifty percent of people residing in developed countries have an interest in the capital market.

(C) There is a dearth of faith in the oneness of the market.

A. OnlyA B. OnlyBandC

C. AllA,BandC D. OnlyAandC

Which of the following is TRUE, according to the passage?

(A) The two other responsibilities that have no impact on market integrity were the induction of technology and the capitalization of intermediaries.
(B) Almost fifty percent of people residing in developed countries have an interest in the capital market.

(C) There is a dearth of faith in the oneness of the market.

A. OnlyA B. OnlyBandC

C. AllA,BandC D. OnlyAandC
Solution for Question 30 Ans Key: 2
eng The answer is given in the last line of the 1st paragraph
hi The answer is given in the last line of the 1st paragraph

Q-31

eng

Choose the word most SIMILAR in meaning to the word given in bold, as used in the passage.

Espousal

A.  Support B. Pervasive



C.  Prudent D.  Scruffy
Q-31  Choose the word most SIMILAR in meaning to the word given in bold, as used in the passage.

hi

Espousal

A.  Support B. Pervasive

C. Prudent D. Scruffy
Solution for Question 31 Ans Key: 1
eng Pervasive (adj.) — present, seen or felt everywhere

Prudent (adj.) — Intelligent showing good judgement.
Scruffy (adj.) — dirty

hi Pervasive (adj.) — present, seen or felt everywhere
Prudent (adj.) — Intelligent showing good judgement.

Scruffy (adj.) — dirty

Q-32 Choose the word most SIMILAR in meaning to the word given in bold, as used in the passage.

eng .
Exhortation
A.  Admonition B. Desert
C. Dampen D. Canny

Q-32 Choose the word most SIMILAR in meaning to the word given in bold, as used in the passage.

Exhortation

A.  Admonition B. Desert
C.  Dampen D. Canny
Solution for Question 32 Ans Key: |

Admonition (n) — caution

For other options-

Desert (v) — to leave the company of someone
Dampen (v) — to depress or discourage

Canny (adj.) — intelligent and showing good judgement

Admonition (n) — caution

For other options-

Desert (v) — to leave the company of someone
Dampen (v) — to depress or discourage

Canny (adj.) — intelligent and showing good judgement

Passage for Question 33 (ST-08CETGRADUATION(26-30E)2021)

eng Passage
Read the following passage and answer the questions based on it.

Every action, as the ancient sages and later, Newton, too discovered, has an equal and opposite reaction. This is true in both the physical domain as well as life in
general. Whatever action we do, incurs a reaction. Importantly, the thing to recognise here is that an action is always in the present, but its reaction always comes a
moment, a few seconds, a minute, some hours or even eons later, depending on the nature of the action. Hence, the result occurs in the future. When the results are
immediate, the law of cause and effect is clearly evident. For example, overeating today may result in indigestion tomorrow; but diseases brought on by toxic
lifestyles manifest years later. Frequently, we see people working hard, with dedication and sincerity; despite all efforts, desired results are not obtained. The result
of an action is based on two factors that are in our hands: our motive and the action itself.

If you are performing good action, with the noble motive of helping someone, the result is immediate — you feel happy and good about yourself. The moment you
have an inappropriate thought or malicious intent and undertake the wrong action, you may not get caught right away but agitation and discomfort arise in the mind
immediately. Motives give results instantly while actions give results later. Why do good people suffer? It appears sometimes that virtuous actions produce adverse
results. Does the law of action and reaction really work then? Our understanding of this law is actually very limited. If we say it is mere chance, and that if we could
somehow calculate or predict the right permutations and combinations, we would get our desired result, then logically, the world would be chaos. All sciences
would fail if the law were erratic — and the latter could not be a law, after all! While the law can be perceived and spoken of in the broadest terms, no amount of
mathematics or even pure science can justify it in its minutiae. We can only seek to acknowledge that the destiny we are experiencing today is the result of our past
actions.

There can be no effect or result without a cause, no fruit without a seed; nothing ever happens to us that isn’t a consequence of some action we had done in the past
whether long ago or recently. So we need to accept events with greater composure and peace of mind. The moment we acknowledge that the cause was our own
actions in the past, and the future is dependent on our present actions, we are in control and can handle any situation effectively. We alone are responsible for our
joy and happiness. When we blame somebody else for our sorrow, we become powerless and dependent. We cannot resolve the problem until the other person
changes his attitude and stops ‘giving’ us unhappiness, so to speak. Once we have understood the law of action and reaction, we can own up our responsibility, find




any situation easier to accept and be empowered to make a change. Life always throws up situations — the result of our past actions — which we refer to as destiny.
‘What you do with it, and more importantly, how you face it, is a matter of choice.

hi Passage

Read the following passage and answer the questions based on it.

Every action, as the ancient sages and later, Newton, too discovered, has an equal and opposite reaction. This is true in both the physical domain as well as life in
general. Whatever action we do, incurs a reaction. Importantly, the thing to recognise here is that an action is always in the present, but its reaction always comes a
moment, a few seconds, a minute, some hours or even eons later, depending on the nature of the action. Hence, the result occurs in the future. When the results are
immediate, the law of cause and effect is clearly evident. For example, overeating today may result in indigestion tomorrow; but diseases brought on by toxic
lifestyles manifest years later. Frequently, we see people working hard, with dedication and sincerity; despite all efforts, desired results are not obtained. The result
of an action is based on two factors that are in our hands: our motive and the action itself.

If you are performing good action, with the noble motive of helping someone, the result is immediate — you feel happy and good about yourself. The moment you
have an inappropriate thought or malicious intent and undertake the wrong action, you may not get caught right away but agitation and discomfort arise in the mind
immediately. Motives give results instantly while actions give results later. Why do good people suffer? It appears sometimes that virtuous actions produce adverse
results. Does the law of action and reaction really work then? Our understanding of this law is actually very limited. If we say it is mere chance, and that if we could
somehow calculate or predict the right permutations and combinations, we would get our desired result, then logically, the world would be chaos. All sciences
would fail if the law were erratic — and the latter could not be a law, after all! While the law can be perceived and spoken of in the broadest terms, no amount of
mathematics or even pure science can justify it in its minutiae. We can only seek to acknowledge that the destiny we are experiencing today is the result of our past
actions.

There can be no effect or result without a cause, no fruit without a seed; nothing ever happens to us that isn’t a consequence of some action we had done in the past
whether long ago or recently. So we need to accept events with greater composure and peace of mind. The moment we acknowledge that the cause was our own
actions in the past, and the future is dependent on our present actions, we are in control and can handle any situation effectively. We alone are responsible for our
joy and happiness. When we blame somebody else for our sorrow, we become powerless and dependent. We cannot resolve the problem until the other person
changes his attitude and stops ‘giving’ us unhappiness, so to speak. Once we have understood the law of action and reaction, we can own up our responsibility, find
any situation easier to accept and be empowered to make a change. Life always throws up situations — the result of our past actions — which we refer to as destiny.
What you do with it, and more importantly, how you face it, is a matter of choice.

Q-33 Choose the word which is most nearly the OPPOSITE in meaning to the word given in bold as used in the passage.

Integrity
A.  Corruption B. TInfer
C. Panacea D. Perpetual

Q-33 Choose the word which is most nearly the OPPOSITE in meaning to the word given in bold as used in the passage.

Integrity

A.  Corruption B. Infer

C. Panacea D. Perpetual
Solution for Question 33 Ans Key: 1
eng For other options-

Infer (v) — to draw conclusion on given facts
Panacea (n) — a cure for all diseases

hi For other options-
Infer (v) —to draw conclusion on given facts
Panacea (n) — a cure for all diseases

Q-34  Match the statements of column 1 and column 2 and find out which of the options gives the sense of complete sentences both grammatically and
eng contextually.

Column I Column IT
A Looking back at history as a D. few journalists were present at the sight.
journalist, one can only appreciate
the dignity with which

B. Traditional providers did not really E. the reporting of news was done
truthfully.
C. When the assassin fired at the F. have competitive offerings in the
eminent political leader, marketplace.
A. A-F,B-E,C-D B. A-D,B-F,C-E
C. A-F,B-D,C-E D. A-E,B-F,C-D

Q-34 Match the statements of column 1 and column 2 and find out which of the options gives the sense of complete sentences both grammatically and



contextually.

Column I Column IT
A Looking back at history as a D. few journalists were present at the sight.
joumalist, one can only appreciate
the dignity with which

B. Traditional providers did not really E. the reporting of news was done
truthfully.
C. When the assassin fired at the F. have competitive offerings in the
eminent political leader, marketplace.
A. A-F,B-E,C-D B. A-D,B-F,C-E
C. A-F,B-D,C-E D. A-E,B-F,C-D

Solution for Question 34

Ans Key: 4

eng To understand the correct answer, kindly go through the sentences given below:

When the assassin fired at the eminent political leader, few journalists were present at the sight.

Traditional providers did not really have competitive offerings in the marketplace.

Looking back at history as a journalist, one can only appreciate the dignity with which the reporting of news was done truthfully.
hi

Q-35

Q-35

Solution for Question 35

To understand the correct answer, kindly go through the sentences given below:

When the assassin fired at the eminent political leader, few journalists were present at the sight.
Traditional providers did not really have competitive offerings in the marketplace.
Looking back at history as a journalist, one can only appreciate the dignity with which the reporting of news was done truthfully.

Match the statements of column 1 and column 2 and find out which of the options gives the sense of complete sentences both grammatically and
contextually.

Column I [ Column I1

wall the real | D. that ha

occurred during the last four

decades

accrued through
rather  than

A. A-E,B-F,C-D B. A-F,B-E,C-D
C. A-D,B-F,C-E D. A-F,B-D,C-E

Match the statements of column 1 and column 2 and find out which of the options gives the sense of complete sentences both grammatically and
contextually.

Column I [ Column II

w all the real ‘ D

A. The financial sector outgre occurred during the last four

SECtors ol the eConomy decades

B. Financializanon is a  systemic E. and customer service at the tap of a

transformation of capitalism button on their mobile devices.

C. Challengers are fully digital outfits that F. and profits were accrued through
offer branch free banking financial channels rather than
productivity and trade.

A. A-E,B-F,CD B. A-F,B-E,C-D
C. A-D,B-F,C-E D. A-F,B-D,C-E

Ans Key: 4

To understand the correct answer, kindly go through the sentences given below:

Financialization is a systemic transformation of capitalism that has occurred during the last four decades.

eng To understand the correct answer, kindly go through the sentences given below:
Financialization is a systemic transformation of capitalism that has occurred during the last four decades.
The financial sector outgrew all the real sectors of the economy and profits were accrued through financial channels rather than productivity and trade.
Challengers are fully digital outfits that offer branch free banking and customer service at the tap of a button on their mobile devices.

hi

The financial sector outgrew all the real sectors of the economy and profits were accrued through financial channels rather than productivity and trade.

Challengers are fully digital outfits that offer branch free banking and customer service at the tap of a button on their mobile devices.




Q-36

eng

Match the statements of column 1 and column 2 and find out which of the options gives the sense of complete sentences both grammatically and

contextually.

Column I

Column IT

A. Legislators handle public funds, and

there 1s good reason

D. to keep those convicted by criminal
courts from entering elected offices.

B. The apex court has described corruption
as a serious malady

E. to keep out those guilty of misusing
them.

C. Disqualification from contest 1s a civil
disability created by electoral law

F. and one impinging on the economy.

A. A-E,B-FCD
C. A-D,B-F,C-E

Match the statements of column 1 and column 2 and find out which of the options gives the sense of complete sentences both grammatically and

contextually.

B. A-F,B-E,C-D
D. A-F,B-D,C-E

Column I

Column IT

A Legislators handle public funds, and
there 1s good reason

D. to keep those convicted by criminal
courts from entering elected offices.

B. The apex court has described corruption
as a serious malady

E. to keep out those guilty of misusing
them.

C. Disqualification from contest 1s a civil
disability created by electoral law

F. and one impinging on the economy.

A. A-E,B-F,C-D
C. A-D,B-F,C-E

Solution for Question 36

Q-37

B. A-F,B-E,C-D
D. A-F,B-D,C-E

To understand the correct answer, kindly go through the sentences given below:

The apex court has described corruption as a serious malady and one impinging on the economy.
Legislators handle public funds, and there is good reason to keep out those guilty of misusing them.
Disqualification from contest is a civil disability created by electoral law to keep those convicted by criminal courts from entering elected offices.

To understand the correct answer, kindly go through the sentences given below:

The apex court has described corruption as a serious malady and one impinging on the economy.
Legislators handle public funds, and there is good reason to keep out those guilty of misusing them.
Disqualification from contest is a civil disability created by electoral law to keep those convicted by criminal courts from entering elected offices.

Match the statements of column 1 and column 2 and find out which of the options gives the sense of complete sentences both grammatically and

contextually.
Colummn I Colummn IT
A, Companies listen to their customers D. the all-powerful head of the firm had to
_____ and des: { finally bo
B. Not t dis how to raise a
£ from Mahatma G

the protests cc

F. that support cus

instils brand association

A. A-E,BF,CD
C. A-D,B-F,CE

B. A-F,B-E,C-D
D. A-F,B-D,C-E

Ans Key: 1

Match the statements of column 1 and column 2 and find out which of the options gives the sense of complete sentences both grammatically and

contextually.
Column I Column II
A Companies listen to their customers, D. the all-powerful head of the firm had to
and design products finally bow down.

B. Not just India, but dissenters and
protesters around the world have learnt

E. how to raise a voice against injustice
from Mahatma Gandhi.

C. Despite several threats and pressures,
the protests continued

F. that support customer’s hifestyle and
instils brand association.

A. A-E,B-F,C-D
C. A-D,B-F,C-E

Solution for Question 37

B. A-F,B-E,C-D
D. A-F,B-D,C-E

Ans Key: 2

eng

To understand the correct answer, kindly go through the sentences given below:

Companies listen to their customers, and design products that support customer’s lifestyle and instils brand association.
Not just India, but dissenters and protesters around the world have learnt how to raise a voice against injustice from Mahatma Gandhi.
Despite several threats and pressures, the protests continued and the all-powerful head of the firm had to finally bow down.

To understand the correct answer, kindly go through the sentences given below:

Companies listen to their customers, and design products that support customer’s lifestyle and instils brand association.
Not just India, but dissenters and protesters around the world have learnt how to raise a voice against injustice from Mahatma Gandhi.
Despite several threats and pressures, the protests continued and the all-powerful head of the firm had to finally bow down.



Q-38 In the following question, a word has been given and there are three ways in which the word has been used, in similar or different forms.
eng Choose which of the sentences has/have the given word correctly used and mark your answer accordingly.

BURST

1. Broad beans are positively bursting with health and promise a bumper crop any minute now.

II. No sooner had the child seen his mother than he burst into tears.

III. She got so carried away when arguing with her husband that she bursted into tears.

A. Onlyl B. Onlyll

C. Onlyll D. BothIandII
Q-38 In the following question, a word has been given and there are three ways in which the word has been used, in similar or different forms.
hi Choose which of the sentences has/have the given word correctly used and mark your answer accordingly.

BURST

1. Broad beans are positively bursting with health and promise a bumper crop any minute now.
II. No sooner had the child seen his mother than he burst into tears.
III. She got so carried away when arguing with her husband that she bursted into tears.

A. Onlyl B. Onlyll
C. Onlylll D. BothlandII
Solution for Question 38 Ans Key: 4

In sentence I, burst means eruption.
In sentence 1T & 111, Burst (v) — break open or apart suddenly and violently, especially as a result of an impact or internal pressure. It is used only in its
basic form.

In sentence I, burst means eruption.
In sentence I & 111, Burst (v) — break open or apart suddenly and violently, especially as a result of an impact or internal pressure. It is used only in its
basic form.

Q-39 In the following question, a word has been given and there are three ways in which the word has been used, in similar or different forms.
Choose which of the sentences has/have the given word correctly used and mark your answer accordingly.

FORECAST

I. Yields of up to four tonnes an acre had been forecasted before weather broke.

II. The announcer on the radio this morning had forecasted that the storm would last until late this evening.
I11. The weather forecast predicts a sunny start on Sunday but showers arriving later in the day.

A. Onlyl B. Onlyll

C. OnlyIn D. BothIandII
Q-39 In the following question, a word has been given and there are three ways in which the word has been used, in similar or different forms.
Choose which of the sentences has/have the given word correctly used and mark your answer accordingly.

FORECAST

I. Yields of up to four tonnes an acre had been forecasted before weather broke.

II. The announcer on the radio this morning had forecasted that the storm would last until late this evening.
III. The weather forecast predicts a sunny start on Sunday but showers arriving later in the day.

A, Onlyl B. Onlyll

C. Onlyll D. BothIandII
Solution for Question 39 Ans Key: 3
eng In sentence I and II sentence, forecast (predict or estimate) is used as a verb and it is used in its base from only.

In sentence I, forecast (n) — a calculation or estimate of future events.

hi In sentence I and II sentence, forecast (predict or estimate) is used as a verb and it is used in its base from only.
In sentence I, forecast (n) — a calculation or estimate of future events.

Q-40 In the following question, a word has been given and there are three ways in which the word has been used, in similar or different forms.
eng Choose which of the sentences has/have the given word correctly used and mark your answer accordingly.

DELUGE

I. Even alittle stream can cause a deluged when it rains heavily for a long duration.

II. At the back window, the oaks and the steep brown hill looked wonderfully romantic in the deluge.
II1. Your savings are being eroded by the deluging of bills that arrive every month.

A. Onlyl B. Onlyll



C. Onlylll D. Both ITand 1T
Q-40 In the following question, a word has been given and there are three ways in which the word has been used, in similar or different forms.
hi Choose which of the sentences has/have the given word correctly used and mark your answer accordingly.

DELUGE

I. Even alittle stream can cause a deluged when it rains heavily for a long duration.

II. At the back window, the oaks and the steep brown hill looked wonderfully romantic in the deluge.
II1. Your savings are being eroded by the deluging of bills that arrive every month.

A. Onlyl B. Onlyll

C. OnlyIN D. Both Il and Il
Solution for Question 40 Ans Key: 2
eng In sentence I and II, deluge (n) — a severe flood, it should be ‘deluge’ as it is the place of a noun and ‘deluge’ is a noun.

In sentence 111, it should be ‘deluge’ (n) — a great quantity of something arriving at the same time.

hi In sentence I and II, deluge (n) — a severe flood, it should be ‘deluge’ as it is the place of a noun and ‘deluge’ is a noun.
In sentence 111, it should be ‘deluge’ (n) — a great quantity of something arriving at the same time.

Q-41 In the following question, a word has been given and there are three ways in which the word has been used, in similar or different forms.
eng Choose which of the sentences has/have the given word correctly used and mark your answer accordingly.

EBB

I. He listened intently to the ebb and flow of these sounds.

II. After frequent failures my enthusiasm was ebbed away.

[II. They had been there for a while and kept on swimming till the tide began to ebbed.

A. Onlyl B. Onlyll
C. OnlyIl D. BothIandIl
Q-41 In the following question, a word has been given and there are three ways in which the word has been used, in similar or different forms.

Choose which of the sentences has/have the given word correctly used and mark your answer accordingly.

EBB

I. He listened intently to the ebb and flow of these sounds.

II. After frequent failures my enthusiasm was ebbed away.

I11. They had been there for a while and kept on swimming till the tide began to ebbed.

A. Onlyl B. Onlyll
C. Onlylll D. BothIandIl
Solution for Question 41 Ans Key: 1

In II: ‘ebbing’ is the correct form.
In [II: ‘ebb’ is the correct form, according to ‘to’.
InII: ‘ebbing’ is the correct form.
In [II: ‘ebb’ is the correct form, according to ‘to’.

Q-42 In each question below a sentence with four words given in bold type is given. These are numbered (1), (2), (3) and (4). One of these four
eng words given in bold may be either wrongly spelt or inappropriate in the context of the sentence. Find out the word which is wrongly spelt or
inappropriate if any. The number of that word is your answer.

Defence Minister met Vietnamese (1)/ and reviewed bilateral stretagic (2)/ ties & new initiatives (3)/ to further nourish (4) the military cooperation.

A 1 B. 2

C. 3 D. 4
Q-42 In each question below a sentence with four words given in bold type is given. These are numbered (1), (2), (3) and (4). One of these four
hi words given in bold may be either wrongly spelt or inappropriate in the context of the sentence. Find out the word which is wrongly spelt or

inappropriate if any. The number of that word is your answer.

Defence Minister met Vietnamese (1)/ and reviewed bilateral stretagic (2)/ ties & new initiatives (3)/ to further nourish (4) the military cooperation.

A 1 B.
C. 3 D. 4
Solution for Question 42 Ans Key: 2

eng ‘strategic’ is the correct word



‘strategic’ is the correct word

Q-43

eng

In each question below a sentence with four words given in bold type is given. These are numbered (1), (2), (3) and (4). One of these four
words given in bold may be either wrongly spelt or inappropriate in the context of the sentence. Find out the word which is wrongly spelt or
inappropriate if any. The number of that word is your answer.

With inflation rearing (1)/ its head again and global crude oil prices inching (2)/ up, the Bank is likely to maintain the statusqo (3) on interest rates/ at its
bi-monthly monetary policy review for the current fiscal. (4)

A1 B. 2
C. 3 D. 4
In each question below a sentence with four words given in bold type is given. These are numbered (1), (2), (3) and (4). One of these four

words given in bold may be either wrongly spelt or inappropriate in the context of the sentence. Find out the word which is wrongly spelt or
inappropriate if any. The number of that word is your answer.

With inflation rearing (1)/ its head again and global crude oil prices inching (2)/ up, the Bank is likely to maintain the statusqo (3) on interest rates/ at its
bi-monthly monetary policy review for the current fiscal. (4)

A 1 B.
C. 3 D.
Solution for Question 43 Ans Key: 3

Q-44

‘Status Quo’ is the correct spelling.
‘Status Quo’ is the correct spelling.
In each question below a sentence with four words given in bold type is given. These are numbered (1), (2), (3) and (4). One of these four

words given in bold may be either wrongly spelt or inappropriate in the context of the sentence. Find out the word which is wrongly spelt or
inappropriate if any. The number of that word is your answer.

It was the need for “’continuity’’ (1)/ amid an excessive (2) capital market/ volatility (3) that led to the government/ giving the second extansion (4) to
the Head of department.

A1 B. 2
C. 3 D. 4
Q-44 In each question below a sentence with four words given in bold type is given. These are numbered (1), (2), (3) and (4). One of these four
words given in bold may be either wrongly spelt or inappropriate in the context of the sentence. Find out the word which is wrongly spelt or
inappropriate if any. The number of that word is your answer.
It was the need for “’continuity’’ (1)/ amid an excessive (2) capital market/ volatility (3) that led to the government/ giving the second extansion (4) to
the Head of department.
A 1 B.
C. 3 D. 4
Solution for Question 44 Ans Key: 4
eng The correct word will be extansion.
hi The correct word will be extansion.

Q-45

eng

In each question below a sentence with four words given in bold type is given. These are numbered (1), (2), (3) and (4). One of these four
words given in bold may be either wrongly spelt or inappropriate in the context of the sentence. Find out the word which is wrongly spelt or
inappropriate if any. The number of that word is your answer.

BSE Sensex slipped from (1)/ its initial gains and traded nearly flat in late morning (2)/ on profit-booking in IT, bank, capital geod, (3)/ metal and tech
sectors amid mixed Asian cues. (4)

A B. 2
C. 3 D. 4
In each question below a sentence with four words given in bold type is given. These are numbered (1), (2), (3) and (4). One of these four

words given in bold may be either wrongly spelt or inappropriate in the context of the sentence. Find out the word which is wrongly spelt or
inappropriate if any. The number of that word is your answer.

BSE Sensex slipped from (1)/ its initial gains and traded nearly flat in late morning (2)/ on profit-booking in IT, bank, capital good, (3)/ metal and tech
sectors amid mixed Asian cues. (4)



A 1 B.

C. 3 D.
Solution for Question 45 Ans Key: 3
eng ‘goods’ should be used.

hi

‘goods’ should be used.

Passage for Question 46, 47, 48, 49, 50 (ST-15 CET GRADUATION E (21-25) 2021)
eng Passage

In the following passage there are blanks each of which has been numbered. These numbers are given below the passage and against each five
words have been suggested, one of which fits the blanks appropriately. Find out the appropriate word in each case.

India’s GDP growth could rise to 7.9 per cent because of good monsoon so far, with agriculture expected to grow by 4 per cent and consumer price inflation likely
to be (A) to 5 per cent , rating agency Crisil said.

Although the rainfall levels this year have been better than normal, the rainfall has not been well-distributed, leaving some places with (B) rainfall and others deficient.
“Going ahead, assuming rainfall is evenly distributed across time and regions, we expect GDP growth to (C) to 7.9 per cent, agricultural growth to come in above
trend at 4 per cent and CPI inflation to remain contained at 5 per cent in fiscal year 2017”.“Excess rainfall in 89 districts across eight States could impact sowing
and, therefore, the agricultural output for the kharif season. Therefore, spatial and temporal distribution of rainfall (D) the second half of the season, especially in
August, will be crucial.”’Crisil has developed a Deficient Rainfall Impact Parameter (DRIP) index, which measures the impact of rainfall levels on each crop across
geographic regions.

“The crop-wise DRIP scores are lower (better) than the average of the last six years. Also, compared with last year, coarse cereals, soybean, groundnut and pulses
such as tur are doing better. Even rice, which was slightly worse (E) than last year as of last week, has caught up and improved.”

The Crisil analysis shows that rainfall was deficient in the middle of June in all regions except for the southern peninsula. However, the situation has dramatically
improved since then. “Latest data shows rainfall is normal or above normal in all regions barring the east and northeast, which accounts for 16 per cent of total food
grain production in India,” according to the report. “However, rainfall has not been well distributed,” it said.

hi Passage

In the following passage there are blanks each of which has been numbered. These numbers are given below the passage and against each five
words have been suggested, one of which fits the blanks appropriately. Find out the appropriate word in each case.

India’s GDP growth could rise to 7.9 per cent because of good monsoon so far, with agriculture expected to grow by 4 per cent and consumer price inflation likely
to be (A) to 5 per cent , rating agency Crisil said.

Although the rainfall levels this year have been better than normal, the rainfall has not been well-distributed, leaving some places with (B) rainfall and others deficient.
“Going ahead, assuming rainfall is evenly distributed across time and regions, we expect GDP growth to (C) to 7.9 per cent, agricultural growth to come in above
trend at 4 per cent and CPI inflation to remain contained at 5 per cent in fiscal year 2017”.“Excess rainfall in 89 districts across eight States could impact sowing
and, therefore, the agricultural output for the kharif season. Therefore, spatial and temporal distribution of rainfall (D) the second half of the season, especially in
August, will be crucial.”’Crisil has developed a Deficient Rainfall Impact Parameter (DRIP) index, which measures the impact of rainfall levels on each crop across
geographic regions.

“The crop-wise DRIP scores are lower (better) than the average of the last six years. Also, compared with last year, coarse cereals, soybean, groundnut and pulses
such as tur are doing better. Even rice, which was slightly worse (E) than last year as of last week, has caught up and improved.”

The Crisil analysis shows that rainfall was deficient in the middle of June in all regions except for the southern peninsula. However, the situation has dramatically
improved since then. “Latest data shows rainfall is normal or above normal in all regions barring the east and northeast, which accounts for 16 per cent of total food
grain production in India,” according to the report. “However, rainfall has not been well distributed,” it said.

Q-46  Choose the correct option for (A)

eng
A.  restricted B. restorative
C. retort D. rant
Q-46  Choose the correct option for (A)
hi
A.  restricted B. restorative
C. retort D. rant
Solution for Question 46 Ans Key: 1
eng For other options-
Rant (v) — fulminate
hi For other options-

Rant (v) — fulminate



Q-47  Choose the correct option for (B)

eng
A. increase B. surplus
C. indulge D. scumry
Q-47 Choose the correct option for (B)
hi
A. increase B. surplus
C.  indulge D. scurry
Solution for Question 47 Ans Key: 2
eng For other options-
Scurry (n) — a situation of hurried and confused movement.
hi For other options-
Scurry (n) — a situation of hurried and confused movement.
Q-48 Choose the correct option for (C)
eng
A, yltimate B.  remotely
C. rise D.  insurgency
Q-48 Choose the correct option for (C)
A.  ultimate B.  remotely
C. rise D. insurgency
Solution for Question 48 Ans Key: 3
For other options-
Insurgency (n) — rebellion
For other options-
Insurgency (n) — rebellion
Q-49  Choose the correct option for (D)
A. at B.
C. for D. n
Q-49 Choose the correct option for (D)
A, at B. il
C. for D. n
Solution for Question 49 Ans Key: 4
eng In (preposition)- expressing a period of time during which an event happens.
hi In (preposition)- expressing a period of time during which an event happens.
Q-50  Choose the correct option for (E)
eng
A. of B. with
C. n D. off
Q-50  Choose the correct option for (E)
hi
A, of B. with
C. n D. off
Solution for Question 50 Ans Key: 4
eng Worse off (phrase): in a less advantageous position; less fortunate or prosperous.
hi Worse off (phrase): in a less advantageous position; less fortunate or prosperous.

Q-51 If6A=4B=9C; whatisA:B:C?



eng

A. 649 B. 9:4:6
C. 496 D. 694
Q-51 aF[T6A=4B=9C; TN A:B:CFT AT F4T 211 2
hi
A, 649 B. 946
C. 496 D. 694
Solution for Question 51 Ans Key: 4
eng Let6A=4B=9C =k
=A=ki6 B=k/4 C=K9
=A:B:C=(K6): (ki) : (k/9)
=2AB:C=6:9:14
hi HHIBA=4B=9C =k
=A=kl6 B=ki4, C=k/9
= A B C=(ki): (k4): (ki9)
=2A'B-C=6:9:4
Q-52 What is fourth proportional to 189 ,273 and 153 ?
A 117 B. 299
C. 221 D. 187
Q-52 189,273 ST 153 FT AqATIATAT F4T ZHIT 2
A 117 B. 299
C. 221 D. 187
Solution for Question 52 Ans Key: 3

Let fourth proportional be a

= 189:.273=153"a
= a= (273'x 153)/189
=>a=27

Fourth C al is 221
Y & HIER

=189:273=153"a
= a= (273 x 153)/189
=a=221

- AU 221 Bl

Q-53 Rupees 11550 has to be divided between X, Y and Z such that X Gets 4/5 of what Y gets and Y gets two third of of what Z gets. How much more does Z

eng getover X (inRs.) ?

A. 7200
C. 1390

B. 1800
D. 2450

Q-53 11550 9T, X,Y TT Z 3 HeT TH T A9 (63 ST ¢ T X T Y FT 4/5 TTH a1 € T Y FT ZFHT 2/3 IH 2T € . Z /0 X 7 e stfae

hi ITH (¥, H) Brar g 2

A. 7200
C. 1390

B. 1800
D. 2450



Solution for Question 53 Ans Key: 4

eng letZgetRs. a
According to the problem statement, Y will get 2a/3 and X will get (4/5) = (2a/3) = 8a/15
Now,
=X+Y+Z=11550
= 8al15 + 2a/3 +a = 11550
= a=5250
~ Amount Z gets more than X =a— 8a/15 = 7a/15 = 7 x 5250/15 = 2450
~ Z get over X by 2450.
hi AT Z, a ¥UT Ut BT 6 |
Y & TR, Y Bl 2a/3 WK 814 3R X Bl (4/5) x (2a/3) = 8a/15 UIE &1
e,
= X+Y+Z=11550
= 8a/15 + 2a/3 +a = 11550
= a=5250
~ Z, X U ¥ WK T = a— 8a/15 = Ta/15 = 7 x 5250/15 = 2450
~ Z, X ¥ 2450 ¥ U1 B
Q-54 Before a battle the ratio of tanks to planes in an army was 5:3. During the war 1000 tanks were destroyed and 800 planes were destroyed . The ratio of
eng tanks to planes becomes 2:1. What is the number of tanks after the war ?
A. 2000 B. 1000
C. 3000 D. 4000
Q-54  UF qZ T T &F FT gATs SISl & STUTT 5 :3 AT, TF F 9 1000 EF TaATE 2T T ¥ 800 FATS ST&TST TATE BT T, AT 2 T gaTs STgTol 7
hi ST 2:1 BT SITAT & AT TZ % T Sohl ! AT AT HIToT 2
A. 2000 B. 1000
C. 3000 D. 4000
Solution for Question 54 Ans Key: 1
eng Suppose tanks before battle = 5x and Planes = 3x
Since during war 1000 tanks and 800 planes were destroyed and ratio becomes 2 : 1;
~ (5% =1000)/ (3x —800) =21
= 5x — 1000 = 6x — 1600
=~ X =600
~ Number of tanks after war = 600 x 5 — 1000 = 2000
hi AMI 45 T Ugd ¢ = 5x AR gdlgaiold = 3x
4ftb Zg & SR 1000 ¢ AR 800 A Bl 71U ¥ IR Ul 2 - 1 Bl 71 UT:
~ (5x—1000) / (3x — BOO) = 2/1
= bx— 1000 = 6x— 1600
~ x =600
~ 4G & 91 ¢l &I YT = 600 x 5— 1000 = 2000
Q-55 The average marks of 50 students in an examination was 65. It was later found that the marks of one student had been wrongly entered as 83 instead of
eng 38. The correct average is;
A. 639 B. 645
C. 647 D. 64.1
Q-55  UH TLAT H 50 BIAT F A6 3% 65 2. qTE § TAT FAT 1 U T & 31 38 I ST AT & 83 S &0 M0 o1, q¥ 7=t 3o aaqrey ?



A, 639 B. 645
C. 64.7 D. 64.1
Solution for Question 55

Ans Key: 4

eng According to the problem statement
= New average = (50 x 65— 83 + 38)/50
= New average = 3205/50 = 64 .1

~ New average is 64 1

hi TS Y- B HIEN
= 47 AT = (50 x 65 — 83 + 38)/50
= 747 319 = 3205/50 = 64.1

Q-56 In a class of 50 students, there are 22 girls who scored an average of 35 marks in the test. What is the average marks of the boys, If the class average is 42

- 71 SEd 64 11

eng marks?
A. 50 B. 525
C. 475 D. 55

Q-56 50 TTAT & UF FeAT §, 22 ASTHAT 7 TLAT § 35 37 7 A6 Th1< AT, TS FeqT 7 79T 42 3 &, qATASHI 6 A6 31 F47T 82

hi

A. 50 B. 525
C. 475 D. 55
Solution for Question 56 Ans Key: 3
eng Let the average marks scored by boys be a
According to the problem statement
= Average of class = 42 = (22 x 35 +.28 x a)/50
= 2100 - 770 = 28a
=a=1330/28 =475
- Boys average marks are 47.5
UY BYH & HTIR
= DA I SIGd = 42 = (22 x 35 + 28 x a)/50
= 2100-770 =28a
=a=1330/28=475
+ TSI b A b 47 58|
Q-57  The average of 41 consecutive odd numbers is 49. What is the largest number?
eng
A. 89 B. 91
C. 93 D. 95
Q-57 41 AT e T AT ST 49 8. T TE T #4 § 2
hi
A. 89 B. 91
C. 93 D. 95
Solution for Question 57 Ans Key: 1

eng Since given that average of 41 consecutive odd numbers is 49,

Which implies that middle number is 49 and there are 20 numbers greater than that,

= The largest number = 49 + 20 x 2 = 89

= The largest number is 89.




hi it a1 7T & T 41 TR [a8H 01 &1 Si16d 49 &,
SO ard g ¢ & Ao T 49 & 3R 20 S 39 e
= GEY 5] YA = 49 + 20 x 2 = 89
- 94 93 T 89 B

Q-58 A batsman scores 87 runs in the 21st match of his career. His average runs per match increases by 2. What was his average before the 21% match ?
eng

A 45 B. 46

C. 44 D. 43
Q-58  UF FocraTsl AT UL F 219 A H 87 T A, I8 I 99 AT ¥ H 2 T gz B AT 2. 213 §9 | Tl AT A F47 47 ?

A. 45 B. 46

C. 44 D. 43
Solution for Question 58 Ans Key: 1
eng Let his average before the 21%! match be x and average after the 21 match will be x + 2

His total runs before the 21°* match can be given as 20x

hi M1 217 B9 Y Ugd 39! I10d x & M 217 T & 916 U@ Ad x + 28
219 09 ¥ Ugd 39 &d I ®I 20x & EU H fora] o Javdl &
LIRS

+ 217 B9 @ 0BT SUDI oG 45 3

Q-59 If a vendor sells a coconut at Rs. 14.4, he makes 10% loss. If he wants to make 25% profit, then at what price (in Rs.) should he sell?
eng

A. 18 B. 20

C. 16 D. 22
Q-59  =f3 U faaar uF aTae 97 14.4 €. 9% J9qT &, AT 39 10% FT 21 Al § TR a8 25% ATH FHET ATqT &, 39 60 To7 (%, 7 ) 9% 5=e1T1
hi 1T ?

A. 18 B. 20

C. 16 D. 22
Solution for Question 59 Ans Key: 2
eng Letits CPbe Rs x

From the problem statement,

=2x—10x100=09x =144

=x=16

For making profit of 25%, selling price can be given as
=X +25x/100=125x%16=20

-~ The selling price should be Rs. 20.

hi A HI T x &
DEEIE
= x—10x/100 = 0.9x = 14.4

=x=16



25% W14 DA @ 778, 19T Tod [HY UPR [ql ol 9hdl §
= X +25%/100 = 1.25 x 16 = 20
- 60 529 20 %. A1 9IfgYl

Q-60 At all village trade fair a man buys a horse and a camel together for rupees 51,250.He sold the horse at a profit of 25% and the camel at a loss of 20%. If

eng he sold both the animals at the same price, then the cost price of the cheaper animal was Rs.
A, 6600 B. 7500
C. 25000 D. 20000
Q-60 =T UF fAaar UF AT 9¥ 14.4 F. 9 J90q71 &, AT 34 10% T 21 Il § TR a8 25% ATH FHAT AT &, I 67 ToF (%, 7 ) T o=eT
hi =T ?
A. 6600 B. 7500
C. 25000 D. 20000
Solution for Question 60 Ans Key: 4
eng Let the CP of horse be Rs_ a, then CP of camel be Rs. (51250 — a)

From the problem statement,

He sold horse a fit of 25

= SP 53

He sold camel at 2 055

= 5P amel = 0.8(51250 —a
Given that both of them are equ
— 1.25a = 0.8(51250 — 1

= o] Id Hel] = 51250 —-a
fearTar § fob gl SRR §

= 1.25a =028(51250—a)

= a = 20000

. Tl SHER &1 T 4 e 20000 % &

Q-61 On a certain item profit is 150%.If cost price increases by 25%, what will be the new profit margin (in percentage) ?
eng

A. 25 B. 50
C. 100 D. 75
Q-61 T 3T a5q T2 ATH 150% & | TTE T o7 H 25% Flg gIdt g ar 73T AT Traerd | F47 g2
hi
A 25 B. 50
C. 100 D. 75
Solution for Question 61 Ans Key: 3
eng Let initial CP be Rs. 100

Profit is 150% means

= SP = 100 + (150/100) x (100) = 250

Klrvar 1F D incrracacoeAd by DEO00



WS TR S R A T S

= CP =100 + (25/100) x 100 = 125
Profit can be given as

= (250 — 125) x 100/125 = 100%

-« Final profit percentage is 100%

8x210

hi AT SRS 60 Je9 100 3. &
150% w14 &7 3f &
= fa%a g9 = 100 + (150/100) x (100) = 250
e Ol FU A F 25% Y@ ST 8
= PY HA =100 + (25/100) = 100 =125
o 9 TeR 9 fear o gadl 6
= (250 —125) = 100/125 = 100%
. 3ffaT Ty ufaed 100% &
Q-62 The passing marks of an exam is 40% marks. A student gets 250 marks and yet fails by 38 marks.What is the maximum marks?
eng
A. 720 B. 750
C. 800 D. 840
Q-62 T TIAT H IO 3 40% & | T BT 250 3 TITH FIAT ¢ (6T T 38 30T & STAI07 21 SATAT & | T STTEHAH 35 FAT g 2
hi
A. 720 B. 750
C. 800 D. 840
Solution for Question 62 Ans Key: 1
eng Let the maximum marks be a
According to the problem statement,
= (40a/100) = 250 + 38
=a=288/04=720
~ Maximum marks are 720.
hi AT SHfEdad 3h a §
U HYH B ATER,
= (40a/100) = 250 + 38
=a=288/04=720
- HfTHaH AP 720 B
Q-63 What is the value Of5.6x(}.36+0.42)<3.2 ?
eng 0.8x2.1
A 2 B. 1
C. 3 D. 312
3-63 5.6x0.36+0.42%3.2 o T T 2T
0.8x2.1
A 2 B. 1
C. 3 D. 32
Solution for Question 63 Ans Key: 1
eng 5.600.26-+0.42x3.2
0821
2xT(Bx18+6x16)



2{144-+96)

(1.35)[(1.2)2+(0.8)2+(0.7)2-0.96—-0.84—0.56]

A Y B. »
C. 2 D. 1

Solution for Question 64

eng

hi

|_l,f|"' (0.8)° 5|_-_I,,_;" 2016

Akl 2. i gy 2 i i |
(1.35) [(1.2)"+(0.8)"+(0.7)=—0.96—0.84—0.56

(1.23-+(0.834(0.7)3— 3x1.2x0.8%0.7

1/2 (1.2-40.8+0.7) [ (1.2)2+(0.8)2+(0.7)2—1.2x0.8-1.20.7—0.80.7]

We know: x* +y® + 73—3xyz = (x +y +2) (¢ + y> + 22 —xy

Applying this formula in the numerator of the above fraction

I

IS

(12+08+07)135=27/135=2

~ Required Answer = 2

(123 +(0.8)°+-{0.7) —2.016

(1.35)| (1.2)* H08)2+(0.7) —U.Qﬁ—u.ﬁd—u.&ﬁj

(1.2 4+ (0.8)* (0.7 — 3x%1.2x08x0.7

| f

1/2%(1.24+0.8+0.7) [(1.2}%(0.3]%{0.7}’* —1.9x0.8-1.2x0.7-0.8 xﬂ.?’]

BHUMd e xC+y3+ 22— xyz=(x+y+2) (2 + Y2 + 22 —xy — yz — 7%)

SRiGd U & AN E T T D A & I
(12+08+07)135=27/135=2
-~ HTTGH IR =2

8530
240
= ax30
=2
i 5.6x0.26+0.42x3.2
0.8x2.1
2xT7(8x18+6x16)
8210
2(144-+96)
T Bx30
240
= ax30
=2
Q-64 (1.2)3+(0.8)*+(0.7)3*-2.016
i ?
eng Whatis the value of (17 313 932 1 (0.8)2+(0.7)2—0.96—0.84—0.56]
Ay B. 1
C. 2 D. 1|
Q-64 (1.2)3+(0.8)>+(0.7)*-2.016 .
hi =T HIT T 52

£ A

Ans Key: 3

Q-65

eng

The table given shows th number of applications who have applied for exam at various centres as percentage of total numbers of applicants. The table also
shows the number of online applicants and absent applicant as a percentage of total applicants of each centre. Total number of applicants is 1200000

Exam centre Total applicants | Online applicants Absent
applicants
F 15% 30 36%
G 25% 44% 25%
H 20% 52% 3%
J 24% 46% 18%
K 16% 38% 20%,

If A equals to 15% of total applicants who are present at exam centre F and B equals to present applicants at exam centre K, then A is what percent of B?



Q-65
hi

A, 18.18 B. 1125

C. 1333 D. 14.28
= T TS A H [ AEEHT F AAAT h ®T H AT TET T2 TEAT F o707 IURAT SAAGAT hT ST HT FATAT TAT & | FRIN H T4H 5% T2
F ATATH] & AT F T H SAAATSH STATHT 3T AT SATAGHT T TEAT T Y F9TIT AT | AT AT FH T=AT 1200000 2 |

OITET the FeA ATITH AT ATdZR Hgﬂfhﬂ AT
15%% 30% 36%
25% 44% 25%
20% 5205 32%
248 46% 18%
16% 38% 20%

Fl=Z Q=

e A, Wi ds F U SURYdT $d Sfacd] O Ul & 15% & sxIsR e 31X B, TRIAT
ﬁK}HGﬂ@%@%dqwﬁHwﬁimm%ﬁa A B % e ufia 22

A, 18.18 B. 1125
C. 1333 D. 1428

Solution for Question 65 Ans Key: 2

Q-66

eng

A= 15% of total appli

15 =
— A

oy g A e MR
o =U10 ).o * 1200000 = 123000

—~ — i~ fFDO — 7 slal =y ata — 44 O£

A as percentage of B = 2ol 03600 1) X )= 1129

— T = i TTEEF e AT =T LIl T 15

A =URITET g F U SURYd Pof Hldadl @l H¥dT ol 158
; S e e b Lk i
=015 15 x 0. 64 120004 =128

....... ata]

B =0.16 x 0.8 x 1200000 = 153600

5 SE] 7= (17280/153600) =100 = 11.25%

I
[wa]
c)l

The table given shows th number of applications who have applied for exam at various centres as percentage of total numbers of applicants. The table also
shows the number of online applicants and absent applicant as a percentage of total applicants of each centre. Total number of applicants is 1200000

Exam centre | Total applicants | Online applicants Absent

applicants

F . 3% | _%II".. | 36%
—c [ 25%; | 44, | 259
H ' 20% ' 52% | 320
J | 24% ' 46% ' 18%
K 16% 38% 200

The total number of offline applicants from exam centre H, K and F are how much less than the total number of present applicants from exam centre G and
”

A, 111420 B. 100920

C. 127370 D. 109990

Fr=r & T ATl § FA sraEH i F Wiaerd F w7 § Afwer T3 07 wer F foru 3uttua swereAt v /e w 39T T g | Aol § woT a% 97
FA ATATHRT % TTAAT F T H SAAATSH ATATHT AT SAACAT SATATHT T HEAT T ST FATIT ITAT 8 | ATSGRT AT FHel G947 1200000 7 |

TATHT the we ATaTH: AT A= Glfl"'lﬁﬂﬂ ATaSH
F 15% 30% 36%
G 25% 449 25%
H 200 52% 32%
J 249%; 46% 18%
K 16% 38% 20%

THAT F% H K 31T F 9% IR AT STAaahi il Fel ST THAT 7 G 37T J IT IURAT ATaaahi it F1 Sear F Fhast w7 82



A, 111420 B. 100920

C. 127370 D. 109990
Solution for Question 66 Ans Key: 2
eng Total number of offline applicants from exam centre H, K and F

=(02x048+0.16 x 062+ 0.15 x 0.7) x 1200000

= (0.096 + 0.0992 + 0.105) = 1200000

= 360240

Total number of present applicants from exam centre G and J
= (025 x 075+ 0.24 x 0.82) x 1200000

= (0.1875 + 0.1968) x 1200000

= 461160

~ Required difference = 461160 — 360240 = 100820

hi TRI&T s H, K 3R F TR JURYd Hhallg- HAdah] Dl do Gl
= (0.2 x0.48+0.16 x 0.62 + 0.15 x 0.7) x 1200000
= (0.096 + 0.0992 + 0.105) x 1200000

Q-67 The table given shows th number of applications who have applied for exam at various centres as percentage of total numbers of applicants. The table also
shows the number of online applicants and absent applicant as a percentage of total applicants of each centre. Total number of applicants is 1200000

Exam centre | Total ;1|a|'1|i\‘;||1rs— (')nliﬁ:pilc;mu [ Absent |
applicants |
F ' 15% T 30% | 36°
G L 25% k4% 25%
H " 20% B 5 el 32%
Sl [ 24% | 46%, ' 18%

o [ i | mw | oo

What is the ratio of total number of present applicants from exam centre K to total number of offline applicants from exam centre J ?

A, 40:41 B. 80:81
C. 109 D. 711
Q-67 7 & T AR | A AT F TA9d F w9 H AT F7] I THAT F o7 IHFRAT e Y HAT T Z9qTAT AT 2 | ARV H TAF TF T
hi e ATATH] % AT F FF H SHAATSH STATHT 3T ATTRAT SATAaFT T TEAT 7 fF 39797 3T | gt T {1 H=AT 1200000 2 |
QAT e F ATATh HATAATEA AT aﬁqﬁﬁlamldqm
F 15% 30% 36%
G 25% 44% 25%
H 20% 52% 32%
J 24% 46% 18%
K 16% 38% 20%

TEHEAT %% K T ST ATAah! 1 el ST 3T THAT 3% j T SURAT A BATS AGTH! 6] [T SCAT T AqAT FAT 8 2

A, 40:41 B. 80:81

C. 109 D. 711
Solution for Question 67 Ans Key: 2
eng Total number of present applicants from exam centre K=016 = 0.8

x 1200000

e o A L P NP L Py o r L T



= U 2o A | AJUVUU = 100U

Total number of offline applicants from exam centre J = 0.24 x 0.54
x 1200000

= 0.1296 = 1200000 = 155520
~ Required Ratio = 153600 : 155520 = 80 : 81

hi WI&T g K IR JURYd 3ATdad| &l $d 9% = 0.16 x 0.8 x 1200000
= 0128 x 1200000 = 153600

URi&T g J IR IURYT Sibeig Sdgdi & da el = 0.24 x 0.54
x 1200000

=0.1296 x 1200000 = 155520
=~ ATGRG® HAUId = 153600 - 155520 = 80 : 81

Q-68 The given table shows the number(in percent) of employee working in different departments of an organisation. The table also shows the ratio of males and

eng females and the ratio of employee living in city Z and employee living in city Y. The total number of employees in the organization is 80000.
Department Number of Gender City
Employees M:F Z:Y
A 10% 7:3 1:9
B 22%; 130 3119
€ ' 12% [ 12 ' 5:1
D ' 20 [ 32 ' 1
E ' 360 f 81 ' 513

Male employees of department E is what percent of the employees living in city Z from department A?

A, 1600% B. 2400%
C. 3200% D. 4200%
Q-68 = &t T arert U wwred F A fAantt § w1 w7 v FEarhat f et (qfqerd #) F g9t g | ariorsnr Ot i At F g e
hi TET Z H T AT FHATAT 3T 8T Y H T ATl FHATILAT & ST Tl 9T IATAT & | 8 H HHATAT 0T o1 9241 80000 2 |
Department [ Number of [ Gender [ Cilty
Employees | M:F . Z:
A ' 0% | 73 r g IE
B (s | 139 | 319
C 12% §:2 .1
D = oy Iy B2ad T |
E ' 36% e ' 513

3R E 3 029 FHATE 987 Z | TE a7 faranT A % FH=r 1 Fhaar ufaerd 82

A, 1600% B. 2400%

C. 3200% D. 4200%
Solution for Question 68 Ans Key: 3
eng Number of employees in department E = 36% of 80000 = 28800

= Number of males = (28800 x 8}/ (8 + 1) = 25600
Number of employees of department A = 10% of 80000 = 8000
= Number of employees from city Z = (8000 = 1)/ (1 + 9) =800
~ Required percentage = (25600/800) = 100 = 3200%
hi G4 E H Sl ©f T8 = 80000 BT 36% = 28800
= UBY[ o] GEHT = (28800 x 8) / (8 + 1) = 25600
faHIT A & HHNRA! BT FBAT = 80000 T 10% = 8000
= TEI Z ¥ SHAI! & 9= = (8000 x 1) / (1 + 9) = 800
~ AT Uiaerd = (25600/800) x 100 = 3200%

Q-69 The given table shows the number(in percent) of employee working in different departments of an organisation. The table also shows the ratio of males and
eng females and the ratio of employee living in city Z and employee living in city Y. The total number of employees in the organization is 80000.

| Department ] NMumber of [ Gender | City |



Emplovees M:F Z:Y
A 10%: 7:3 1:9
B 22% 13:9 3:19
C 12% 12 511
D 20%, 3:2 1:3
E 36% §:1 5:13

What is the ratio of male employee working in department B and D together to female employee working in department A and E together ?

A. 138
C. 239

TEY 7 ¥ T Aol FHATAT 3T g Y | g ATl FHATAT % It &1 off qaidl 2 | #aa § FH=ATRAT FT o1 947 80000 2 |

B.

D.
Fr=r & T qTiorET UF W F AT orani § Fw7 w7 g FHATRAT S HedT (AT #) T IAqTAT 8 | qIfernt TEu Si¥ AigeATst % Iqard oiiT

25:7
79

Taramr SRETICAT Shi Tetm IR
Her M:F Z:Y

A 10% 7:3 1:9
B 22% 13:9 319
C 1285 1:2 5:1
D 20% 32 1:3
E 36% 8:1 513

faraIT B 31T D & &7 &3 a7l T29 FHATRAT i 1 ST a7 [AdWT A 3T EH #5713 %7 T ATgaTell i el ST 1 SAqI1d F47 52

A. 13:8 B. 257

C. 239 D. 79
Solution for Question 69 Ans Key: 2

i B =(13/22) x 17600 100
= (3/5 16000 = 0
Total male por nof B + D = 20000
Reqguired rat 18] 00

TUTTA R DIARETD @ T 80000 T 10% 80000

D 22%, 8 20% {UTd #HI: 8000,

17600, 16000, 28800 |

= .-‘_;"'LI -—_‘f H4eld] = (3 '10 e E:_’:]::ICI — 2'_':30

= fqHTT E &1 Afgen 914 = 28800 x 1/9 = 3200

= A + E B! ©el Aiga oS = 5600

= [dURT B @1 U5Y SHEEAT = (13/22) x 17600 = 10400

= D B TSN ST = (3/5) x 16000 = 9600

= B + D @1 d USY G-H%EAT = 20000

+ 9fHT 3UTd = 20000 - 5600 =25 - 7
Q-70 If the sum of ten different positive integers is 100,then what is the greatest possible number among these 10 numbers?
eng

A. 45 B. 91

C. 55 D. 64
Q-70  =fT 10 FAfsrer quitat &1 07 100 &, 7 27 10 Searet § § sfdeman afad s #2182
hi

A, 45 B. 9]

C. 55 D. 064
Solution for Question 70 Ans Key: 3



eng To find the greatest possible number, we need to find the sum of first 9 positive

integers i.e_sum of 1, 2, -, 9 which when subtracted from 100

gives the required greatest number

Using formula to find sum of n natural numbers
Le.sum=n{n+1)/2
=>Sumof1+2+--+9=9x(10/2)=45

= Required greatest number = 100 — 45 =55

~ Greatest possible number among these 10 numbers is 55 |

Hfermar GuTiaa e Id & & (AL, g6 Ugdl 9 U-TeTS Tearal &1 ai I

BT EAT HUT 1. 2. —— 9 HIINTSAE 100 T T T gifssd
HfeaH U= UgH ®dl &

n WIS {ad YT F1d &2 o (078 T & SHIATd SX W)
ST TR =n(n + 1) /2
=1+2+—+9=0x(10/2) BT TAT = 45

= qifesd SfihdH T = 100 — 45 = 55

- 39 10 TEmalt B ¥ oiftrman g Ten 55 2

Passage for Question 71, 72, 73 (ST-15CETGRADUATION(21-25M)2021)
eng Passage

Study the given pie chart carefully to answer questions asked.

Following chart shows the distribution of total number of students enrolled for different courses(in degree) and the distribution of students who successfully
completed their course during session 2016-17

DErech WMiech EBPharma EBCA BIMEA

Total Enrolled Students in different courses

DErech WMrech @B Pharma QEIBCA BDMEA

hi Passage

Tyt F ST F g frragars 97 F1aeqgq7




freferfd are = # fafere aresrat (3 #) % forw ammifera gt Y e d@wer w1 e s a3 et 3 B w1 aar =@ g, S 2016-17
T % O GRAqTIa STTT 1 2T T

fafes Teawat # 57 TShgs o

If overall 75% students have completed their course successfully then find the percentage of students from B.tech who have completed their course?

Q-71

(Approx)

A, 46% B. 54%

C. 68% D. 48%
Q-71 AT HA 75% STAT 7 ST TISAHH &l AHATTLAT T 6T 2, AT d1eah & AT HT ATAe7d Faqrs0, FSegie TOaT FlE T 6T (FRT4)

A, 46% B. 54%

C. 68% D. 48%
Solution for Question 71 Ans Key: 4

this question may be solved directly by taking appeared as 4 and passed as 3

hence required answer will be

A0

149073 100% ~ 48%

22%af 4
hi TH T T HV AT ST ATAT T 4 TAT I B ATAT H 3 AT FT ZA FHT Tl &

o AT 3L BRI

404

149073 100% ~ 48%

22%af 4
Q-72 If the number of sudents who didn't complete their course from college were 1200. Find the number of students from BCA who have completed their
eng cousrse?

A 240 B. 360

C. 480 D. cannot be determined
Q-72 X SA BIAL AT HEAT, PG FiesT § STAT TISTHH 2T qel 6AT 1200 2 SHT F BT 07 SEAT T TAT TG [STeg 17 ST FHIE G FT o Im
hi 22

A. 240 B. 360
C. 480 D. T gl BT ST Fear



Solution for Question 72

Ans Key: 4

eng given data is not sufficient to answer this question
as we can't find total students who have completed
hi 2w T 22T =7 W T 39T A % o e A g
I H HA BT 1 9T Sl Hrd 21 6T 981 19 F7 J9hd
Q-73 If from B.Pharma number of students who were not able to complete course was 7 percent of total enrolled students of college. Then find what percent of
eng students of college have successfully completed their course?
A 20% B. 25%
C. 30% D. cannot be deteermined
Q-73 T FLRETH STAT AT AT ST A T HA H T Tl o, FsT 6 [ a1 Gl 51 7% =71 6T Fierst & Fohaer qfaerd Sl 7 s ae=n
hi TSR I2T FT foraT 82

A 20% B. 25%
C. 30% D. can not be deteermined
Solution for Question 73 Ans Key: 4
eng although 25% appears to be correct answer
but answer will be can not be determined because breakup of students who have not completed is
ETATTH 25% Hal 3L TAT 2ial &
SR StaTer T fReior T8t FFaT ST |t 2 it 5 Sl 3 Fe G2 A8l 6T 14T 8, 39 ferawer 98t fiar g
Q-74 Read the following information carefully to answer the questions asked-
Following chart shows the ratio of Aluminum, Zinc and Copper in four alloys.
[ Alloy Aluminum Zink Copper l
: |
K 5 i] 13 |
" B B N FRE ™
If 3 kg of alloy A is mixed with 2 kg of alloy B then what will be the ratio of Zink and Copper in resultant alloy?
A, 45 B. 235
C. 39 D. 12
Q-74 TR TTTFTFTITTIA & f4Qw ST 1T ATAHT FT SATTLEF I8 —
fArferfera arfoft = frgemgett & vegHifaes, S o wiuw 7 s gaidt 2 )
Alloy Aluminum Zink Copper
A 3 2 3
B - 1 T
& 5 0 13
D 2 7 6
T2 3 FFaRme fersreamq A %1 2 fherrm forremq B & | e & Sirar & a1 aRormt fereng # [ Sl 79 &7 Sqa1d #47 g1 2
A. 45 B. 25
C. 32 D. 12
Solution for Question 74 Ans Key: 2
eng 3:2:3=8)x3x3
4:1:7=12)x2x2
taking Zinc and Copper

18:27



4:28
Required answer=22:55=2:5

hi 3:2:3=8)x3x3
4:1:7=12)x2x2
5o oI T FT o 9
18:27
4:28
il ITE=22:55=2:5
Q-75 Read the following information carefully to answer the questions asked-
eng
Following chart shows the ratio of Aluminum, Zinc and Copper in four alloys.
Alloy Aluminum Zink Copper
A 3 2 3
B - 1 T
& 5 0 13
D 2 7 6
If equal quantities of alloy A,B and C are mixed together then what will be ratio of Aluminum,Zink and Copper in resultant mixture?
A, 17:9:13 B. 1585
C. 73:18:110 D. 71:24:121
Q-75 YR IATTATHTITACIA & fAQ & 1A ATAFRTE F7 SATHYAF I8 —
hi

Frerferfer arhoft = frsregst § vegst=Em, S T Fi F7 9o g g |

o T

" T UMY TA

= = TEe

7 feT A, B ¥ C 1 STHIE 1T & e s, av arorre) fsrend & wegfafa, S qem Fiue F7 S #47 S 2

A, 17:9:13 B. 15:8:5
C. 73:18:110 D. 71:24:121

Solution for Question 75

Ans Key: 4

eng A 3:2:3=8)x9 =27:18:27

B 4:1:7=12)x6 =24:6:42

C 5:0:13=18)x4 =20:0:52

required answer=71:24:121
hi A 3:2:3=8)x9 =27:18:27

B 4:1:7=12)x6 =24:6:42

C 5:0:13=18)x4 =20:0:52

AT 3AX=71:24:121
Q-76 Turlapati Kutumba Rao was passed away he was related to which profession?
eng

A.  Actor B.  Journalist

C. Politician D. Social worker
Q-76 =i qrATIT FHgwET T T U 21 AT, T2 6 &7 | Sataa o4
hi

A AT
C. oifa

B. weeRTRET
D. 9| HaT



Solution for Question 76 Ans Key: 2

eng Sri Turlapati Kutumba Rao veteran journalist was passed away.

hi AT TLATIT HZFIT 1T AT TAHIL T HET 1 147

Q-77 Which of the following country becomes second largest manufacturer of PPE kits and suits?

eng
A. India B. France
C. 7 apan D. Pakistan
Q-77 wfafEd § & #19 a1 <o TS e 3T g F7 ga<7 a9 a=1 FAiar a9 Smav g2
hi
A ST B. wi@
C. ST D. wrfEEd
Solution for Question 77 Ans Key: 1
eng Union Minister for textile and women and child development Smriti Irani has said that India has become the second largest manufacturer of PPE kits and

suits in the world in record three months’ time during the coronavirus induced lockdown in March 2020.

hi FATT FIET ¥ AIZAT ST a1 Fashrer Hft =i ST 7 g’ & T 9 77 2020 § FETETE0E TT ATHSTSH & 2| (RIS i Taid &
T # gieaT § frdis fre 3T g2 &1 g0=7 999 927 FAtar a9 @ 21

Q-78 Excess of nitrates is a disease caused by:
A.  Blue Baby B.  Scurvy
C. Rickets D. Itai-Itai

Q-78 ¥ # FrAT= e &t SAterTwar | g ATAT U &

A. o_ijél—cler G B. 4T
C. fazm D. zzrs-zers
Solution for Question 78 Ans Key: 1

When there is excess of nitrate in the human body, blue baby syndrome occurs.

T T B ST ATZ 32 BT ATERAT 21 ST 2 el &6 &} (g 2t 2l

Q-79 The best source of energy that does not cause pollution:

A.  Solar Energy B.  Atomic Energy

C. Gas Energy D. Thermal energy
Q-79 AT HT HAH =T AT ST FHT TZUT AT HATAT B-

A, HE S B. qzHTO[ FSAT

C. T o=t D. qrdiT =it
Solution for Question 79 AnsKey: 1
eng Solar energy is the best source of energy, which never spreads pollutants and spreads excessive amount of pollution from the rest of the energy sources.

hi HIT 1T, SoTT T Ha STogT ATT &, ST HHT TGO Tl HeAdT ATl  HoiT SATdT & AT JIAT H TZ0T Herdn & |

Q-80 ‘Who among the following was appointed the chairman of the Union Public Service Commission?

eng
A.  Deepak Mishra B. Deepak Kumar
C. Pradeep Kumar D. Manoj Sinha
Q-80  fA=foriaT @ & & A1 &A1 AT 7 e o fgeh Foham
hi
A, FoE e B. dius FAT
C. vdTFAT D. wret fBegr
Solution for Question 80 Ans Key: 3
eng Pradeep Kumar, chairman of the Union Public Service Commission.

hi T ST TAT AT T LT TET FATE T (77w T gl



Q-81  According to the law of reflection of light:

eng
A. Incidence angle is greater than reflection ~ B.  The angle of incidence is equal to the angle of reflection
angle
C. Incidence angle is lesser than reflection D. None
angle
Q-81 T & TTEAA & (A F ATA:
hi
A, STIA FHIOT TSI 0T F FET S B. TG YT IS I o TITET G
C. ST 10T T IO & FreT § D. #ré gt
Solution for Question 81 Ans Key: 2
eng The law of reflection states that when a ray of light reflects off a surface, the angle of incidence is equal to the angle of reflection.

hi JhT & WIddel [@IH H 39de HIUT WWIadel T & S« aidm g |

Q-82  Who of the following has given the term rhizosphere?

eng
A.  Alexopolus B. Garret
C. None of the given options D. Hiltner
Q-82 fFrerferfera & & 3w rhizosphere 9153 T 2:
A, T B. =
C. fur et & & #rg off 72 D. fReee
Solution for Question 82 Ans Key: 4

Lorenz Hiltner is recognized as the first scientist to coin the term “rhizosphere” in 1904. The rhizosphere is the narrow region of soil that is directly
influenced by root secretions.

TS geed?, 1904 H "I EhIIT" Q758 Fl TE ATl Tgol AT | TTSSERIAL [HET T ag Genlv] &1 & ST &rel ST |Taf ° =T 21av &l

Q-83 Which of the following options correctly explains the term ‘heat budget’?

A. Ttis a mode of transfer of heat through B.  Itis the balance between incoming and outgoing radiation.
matter by molecular activity.

C. Itis the amount of heat which the surface of D. It is the radiation from the earth in the form of long waves.
earth receives from the sun.

Q-83  fAwforfea & & #i &7 oo Eie asie’ 152 AT qat ATEAT FT 181 2?

A.  7g rorfae wfafafd grer aard F qreaw B, g SRiA ST e e A fher F €= 7 ager g

& AT % gEATAL0r i U fAfer 1
C. FETATHIAZATATE AT It Frqqg  D. 77 &t T30 % &9 § T=AT F e arar @At g1
T | 9TH FAT 2
Solution for Question 83 Ans Key: 2
eng The balance between incoming and outgoing heat is known as Earth's heat budget.

hi TR ST TSI TATHTT o = F HAA HT TZAT & AT q91e % &9 § ST ST 2l

Q-84  Which of the following article prohibits Forced labour?

eng
A.  Article 23 B. Article 25
C. Article 27 D. Article 30
Q-84 fAwfafad & & #19 97 sg=ar o< =¥ 92 Tiaae T 82
hi
A. IR 23 B. wqeum 25
C. wg=am 27 D. af=uz 30
Solution for Question 84 Ans Key: 1

eng Article 23 in Part I1I explicitly prohibits Forced labour.



hi AT 11 7 STg=eg 23 T8 €9 § a7 AW 1 e ferd FaT gl

Q-85 Who among the following recognized the political parties?

eng
A.  Election Commission B. Law Commission
C. President D. Speaker of Loksabha
Q-85 fAwfafaa & & #19 Toritas gt & Jreaar &a71 872
hi
LA GIEE R B. fafer smarmr
C. rgufa D. T |7 SLqeq
Solution for Question 85 Ans Key: 1
eng In India political parties are recognized by the Election commission.
hi AT H TS TAT T FATT AANT ZTT AT &1 6 S gl
Q-86  Who among the following heads the GST council?
eng
A. RBI B.  Union finance minister
C.  Prime minister D. SEBI

Q-86  wforiad ® & FI SHTUEl TUg T STeqeal Fear a?

A, sEEtTeTE B. FHw fEwah
C. gumwt D. &Y
Solution for Question 86 Ans Key: 2

GST council is headed by the union finance minister Nirmala Sitharaman.

St s &7 srererar s A 5=t A Haror w8l

Q-87 Who among the following didn’t serve as vice president for two terms?

A.  Mohammad Hamid Ansari B. S Radhakrishnan
C. VVGiri D. BothAand B
Q-87 fAwfofed & & o Su=Tgafa FT FTAEHTA &1 STaterd & oy T@r am?
hi
A, HEEE gIHE ST B. UHE TR
C. #E iR D. AT BTMl
Solution for Question 87 Ans Key: 2
eng VV Giri acted as the vice president from 1967 to 1969 for one term.
hi At [ 7 91 v et 6 ore 1967 3 1969 T SURTEATT & ®9 | wrd T
Q-88 The winners of the App Development Challenge organized by NASA are among the winners of the Challenge:
eng
A.  Shri Manoj Das B. Aryan Jain
C.  Shri Jitu Rai D. Mukesh Aghi
Q-88  ATET G AT U SAATHE oA ol o [ASIaTait =St o faorqret # & UF 2
hi
A, A A T B. sdF ST
C. Arsfiqam D. e Ay
Solution for Question 88 Ans Key: 2
eng A high school student from Gurugram Aryan Jain is among the winners of an app development challenge organised by NASA.

hi TEITH % UF BT T 1 G A S ATET GIT SAFTS7d TF U STATHE FAS 6 fasrarati § 9 5

Q-89  Inwhich of the following year Pradhan Mantri Mudra Yojana was launched ?
eng



A. 2014 B. 2015

C. 2017 D. 2019
Q-89 7w & & o Al & wermarwsit HqgT ArStT O A¥ T A
hi
A. 2014 B. 2015
C. 2017 D. 2019
Solution for Question 89 Ans Key: 2
eng Pradhan Mantri Mudra Yojana was launched on 8th April 2015.
hi 8 ST 2015 T TETT FAT H&T ATSHT & 6T T2 7|
Q-90 Aluminium is an example of type of magnetic substances.
eng
A.  Ferromagnetic B.  Diamagnetic
C.  Paramagnetic D. None of the above
Q90 uHAMFw_ oy ATHah uRri gl
hi
A. werEdfes B. =meTEafE
C. riufe® D. IWFHTFIS
Solution for Question 90 Ans Key: 3
Aluminium is an example of Paramagnetic type of magnetic substances
T HTH TEHUTEH THT FT GahrT 9219 2|
Q-91 If a star appears blue it means:
A.  Ashot as the sun B.  Cooler than the moon
C.  Cooler than the sun D. Hotter than the sun
Q-91  =fe &g amer e feware 3ar § a7 zaewr ok & & 7
A TEFTIAFEE B. FEHIEAT QAT H 32T ]
C. ¥ qAATH32TE D. ¥ FAfaFITHE
Solution for Question 91 Ans Key: 4
A star appears blue it means it is hotter than the sun.
T AT AT [@ETS AT § THHT 9qA9 ¢ o Tg G o qAAT H 18 T &
Q-92 Who among the following obtain the spectrum of sunlight by using the prism for the first time?
A.  Johann Doppler B. Isaac Newton
C. Thomas Alva Edison D.  Albert Einstein
Q-92 foforfaa @ & frae qgelt ae fISH &1 START Fh G o THTT HT SFA T8 T am?
hi
A, STEH StIET B. sresiE =g
C. 99" sear ufead D. eae e
Solution for Question 92 Ans Key: 2

eng Isaac Newton obtain the spectrum of sunlight by using the prism for the first time.

Q-93  Atabsolute temperature what is the effect on the kinetic energy of molecules?
eng

A.  Become Minimum B. Become Maximum
C. Become Zero D. Become Constant
Q-93 T ATTHIT I ST T AT FoAT T FAT TATS T=dT &2

A, I TS 8 B. erfirraw g1 st 2



C. qAgIwTe D. fior Tt g

Solution for Question 93 Ans Key: 1
eng The kinetic energy of molecules at absolute temperature becomes Minimum.
hi STUTEAT 3T ITTAST ol T I ATIHI 9T +ATH g1 STt gl
Q-94  Who among the following discovered Infra-Red rays?
eng
A.  Willam Herschel B. Henry Becqueral
C. Marconi D. W.Rontgen
Q-94 fRwforfea & & e s fheon 6t @ 2
hi
A. Bew T-Qrgi?{ B. %ﬂ_& CIETOoRd
C. u=FHET D. =&y es
Solution for Question 94 Ans Key: 1
eng Infra-Red rays were discovered by Willam Herschel.
hi A [Tl T @IS faferas gefer 7 it =)
Q-95 is the S.I unit of Energy.
A.  Pascal B. Newton
C. Hertz D. Joule
Q-95 FSIT T THEATS THTE Bl
A. TTERe B. w7
C. g D. S«
Solution for Question 95 Ans Key: 4
The S.I unit of Energy is Joule and the CGS unit of energy is Erg.
oIl T THATS THTS S § 3T FoA 0] HISTH THTS S g
Q-96 is used to modulate or demodulate a signal.
A.  Amplifier B. Modem
C. Moderator D.  Transformer
Q-96 FT STANT B FT AiSIe1e AT STHISLAE F2 6 o1 o7 Sar &)
A, TEEATRET B. AI=H
C. ufewex D. IE®RYT
Solution for Question 96 Ans Key: 2
eng Modem is a device used to modulate or demodulate a signal.
hi AISH U ITHT & TSHHT START U FT FisLole AT STHISIAE Fd % (o0 a1 STaT gl
Q-97 Based on the concept of buoyancy is used to measure the relative density of liquids.
eng
A.  Lactometer B. Hygrometer
C. Barometer D. Hydrometer
Q-97  SceITad F fHgid aw st T ITART T TSTY 3 ATHET T T G199 % o0 36 Srar )
hi
A, TEERET B. grunfex
C. ST D. grEgrfie
Solution for Question 97 Ans Key: 4

eng Hydrometer is used to measure the relative density of liquids, based on the concept of buoyancy.

hi IeeATad TR I e greg ey T SUART a3 TaT F AT9el *9e T 9+ & o0 BT et )




Q-98  What is the function of cadmium rod in nuclear reactor?

eng
A.  To absorb excess neutron B. To absorb excess proton
C. To absorb excess electron D. To absorb excess heat

Q-98  uwHTY Ruew § Ffigw T &1 w1 #4782

hi

A, FfITh =i T TNt Fed & forw B, s7fafveh Tieid &1 sTaentud & & fow

C. ufaf=r ot #r smenfua wea® D, srfafisw a7 T sraenfua & & foro
ferg

Solution for Question 98 Ans Key: 1
eng To absorb excess neutron
Cadmium rod in nuclear reactor is used to absorb excess neutron.
hi TEATY RUFeT # FHSTHAT TS T START ATATH i 1 AT FI H (o107 6T SITaT gl
Q-99  In the synthesis of vegetable oil is used as catalyst.
eng
A. Tron B. Copper
C.  Nickel D. Zinc
Q-99  FAEf I F HHUT H T ITANT IULH & &9 § FhaT 17 2
hi
A, &rEr B. qf@r
C. fam« D. v
Solution for Question 99 Ans Key: 3
eng Nickel is used as catalyst in synthesis of Vegetable Oil. A catalyst speeds up the reaction.
hi fohet T SUTRT AT d o TGO H ST 6 & | THAT STTAT 81 T SILeh AT 03T &1 a9 Y a7 gl
Q-100 is used in Fluorescent lamps.
eng
A.  Sodium Traces B. Berylium Traces
C. Mercury Vapour D. Nitrogen
Q-100 FT TN FALEE A § AT ST 21
hi
A.  Fifeaw F Feme B. afferaw fema
C. gRTaTy D. ArEdeH
Solution for Question 100 Ans Key: 3

eng : A Fluorescent lamp tube is filled with Mercury Vapour. Argon, Xenon, Neon or Krypton can be used to produce visible light.

hi T FARHE AT & § TTET ATST AL ST 1 SR, ST, i 37 Fhee F7 STFRT g9FATT THh1eT 7 ST e o (o0 6T ST FohaT g




